EEGRDUP ART. NUMBER: 43282

QUALITY POWER TOOLS SHEET: 1/2 MODEL: DRY WALL SANDER DSL 750 PLUS

SET 2 SET 5

DRY WALL SANDER DSL 750 PLUS



EEGROUP ART. NUMBER: 43282

QUALITY POWER TOOLS SHEET: 2/2 MODEL: DRY WALL SANDER DSL 750 PLUS
POS. CODE DESCRIPTION aTyY POS. (W1])] 3 DESCRIPTION aTyY POS. (1] 3 DESCRIPTION aTyY
1 SANDPAPER 6 29 A01774 SCREW M4X22 L 558&630 1800 A GHTALEFT HANDLE ]

2 44995 SANDING PAD 1 29 AD1775 SCREW MAX20 4 (SET3)

3 A1751 WOOL MAT 1 30 A1776 WASHER B i ADT80T TELESCOPIC TUBE !
R AD1752 NYLON BRUSH/SKIRT SET 1 3 1777 GEARBOX 1 61 39387 CABLE !
42 AD1815 SIDE PLASTIC GUARD 1 33 A01778 SCREW 1 62 ADT802 CABLE SHIELD SHEATH !

5 AD1753 SNAP-RING 1 3 A1779 LOCK NUT 1 6h ADT803 SWITCH !

6 AD175% SCREW STAX14 10 35 AD1760 BEVEL GEAR 1 65 ADT804 PLATE 2

7 ADT755 PLASTIC DISC 1 3% 42632 BEARING 629-2RS 1 66 ADT805 VAR'é\gﬁRgEEED !

B AD1756 THREAD AXES 1 37 AD1781 ARMATURE 1

67A AD1806 CABLE CLAMP 2

9 ADD750 SCREW MAX12 b 3 AD1782 INSULATING MAT 1

67 AD1807 EMC 1
10 A01757 WASHER 12 39 39618 BEARING 607-RS 1

68 AD1808 INNER CABLE 1
1 AD1758 COVER 1 40 AD1783 BEARING COVER 1

69 AD1809 MAIN TUBE 1

12 ADT759 GREASE SEAL 1 i AD1784 WIND LOOP 1
13 39623 BEARING 6001-2RS 1 42 A01605 SCREW ST4X50 2 A01810 LEFT SUPPORT ARM 1
1 AD1760 SNAP-RING 1 13 AD1785 STATOR 1 7 - e ;
15 AD1761 SNAP-RING 1 m AD1786 MOTOR SHELL 1 > 010 HOSE CLAMP 1
1 A01762 BALL 1 15 AD1787 BRUSH HOLDER 2 ” e p——— .
17 AD1763 BIG GEAR 1 m AD1768 CARBON BRUSH SET 1

1579 A03299 HANDLE 1

18 ADT764 NEDLEE BEARING 2 47 AD1789 SCREW ST3X8 b (SETS)

19 AD1765 RESET SPRING b 18 AD1790 SPRING 2
2 AD1766 GEAR HOUSING 1 49 AD1791 CABLE PROTECTOR 1
2 39623 BEARING 6001-2RS 1 50 A01792 COVER 1
n A01767 GEAR SHAFT 1 51 A01793 PLATE 1
3 AD1768 BALL 1 52 AD1794 SCREW ST4X8 2
2 AD1769 BEVEL GEAR 1 53 AD1795 SAFE COVER 1
2% A01770 SNAP-RING 1 5 AD1796 SCREW STAX16 7
2 AT771 PIN 1 55 A01797 SCREW STAX20 18
7 1772 LOCK NUT 1 56+63 RIGHT-LEFT FRONT

SET2 A HANDL 1
28+32 773 LEFT +RIGHT ACTIVITIES : (SET2) E
(SET1) BLOCK 57 AD1799 LOCKING KNOB 1

DRY WALL SANDER DSL 750 PLUS



